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Hleil  b, mngas

b, = 2 in(xCosx)sinnxdx
n ,o

= -I; {,“K  [ sin (1 + n)x ; sin (1 - n)x jdx

= i [iIxsin(l  + n)xdx  ~ iixsin(l  - n)xdx]

= -ncos(l  +* +  sin(1 +  n)x

1+n (1 + n)’ 1;;

-
zz ncos  (1 + n)n + sin (I + n)n - 0

l + n (1 + n)’ -

+n)n  = cos(n  + nn) = -cos  n77  = -(- 1)”

+ n)r; = sin (72 + nn) = -sin nn = 0

Jo x  sin (1 + n)x dx =
-7r[  -(-I)“] +0

1+n

n(  - 1)”=-
1 + n

,.........  (2)
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1
2

I r2.  3. 4--sslrlx  +  2:[-sln2x  --sm3x +  - sm4x  - .  ]1
2 3 1 5

+%I  xcosx = -y’ sin x + 2 I(rill2x - i--lqsin3n
I .3

4+ __-- \in 4x - __.
3 5; j

LW7l:jl  sin(-n)  =  -sinn  = 0  UAZ cos(-n)  =  cosn  =  - 1

lw7l~o:~u

xsinx + cosx - cos(-n) = +,,,, - ;(-I) - 2 ; C-l)”
“=2 g7-l  CoS”X

+2 ; (-I)“(-1)”
n=2 n2 - 1

Ix sin x + - c0s  x =
2 1-t +2,f2 I& ]-2”~2~Cosnx
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= c-2;  c!Eccosnx
n=2 “2  - 1

1c = -aao  =
2

$[ i /ln(xsinx  + kcosx)dx]

= $ [lInxsinxdx  + kjIncosxdx]

jlnxsinxdx  = x(--cosx)]~~  - jln(-cosx)dx

= - [i7cosn  - (-n)cos(-n)]  + sinx 11,

= - [ n(  - 1) + n(  - 1) ) + [ sin  n - sin  (-7~)  ]

= -(-2n+o)

= 2n

LLA::  .nI cos  x  dx =-n sin  x  II, = sin  k - sin  (-77)  = 0

rmufi72u  c arli

Ix sin  x  + - cos  x
2

= 1 -2,,T, p cosnx
- 1

l-2(; 1 1= coszx --0x3x + - cos4x -
8 15 )

l-20$
1

coszx - _ I=
2.4

cos3x  + _ cos4x  -
3.5 1

Hi0  xsinx = ~-+oSX-2(~-~~+~-...)

(n) Xitnsmawmu’o  (u) rfiuwii~  x 9in x = -72  ii.3 x

@i&4

r-.xsinxdx = rl,[ 1 -icosx  - 2,E2 g cosnx]dx
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Gn5nb-1  ZGin%in7~~~uio

rmn x sin x dx = x(-cosx)  II,- jl, (-cosx)dx

= - {xcosx  - (-n)cos(-n)]  + sinx r,

= - [ x c o s x  +  ncosn]  +  [sinx  - sin(-n))

=. - [ x cos x + n(-  1) ] + [ sin x  + sin n )

=: -xcosx+n+sinx  ; sin 72 = 0

%JI~W 8un^nTanidu2iu”o

r-,1 1 -icosx  - Z,,f,  z cosnx]dx

= l)l)dx - f j;yosXdX  - znz2  z ~:zC06nxdx

= xI~n-~sinxl~n  - 2,~2~~11n

= lx-(-s)]--[sinx-sin(-n)]-Z  g ~[SinnX-Sinn(-n)  I
n=2 n  - I n

= x+n-1-sinx-2  Z
2

n=2 C& [ sinnx ‘, sinnn j

x+n-isinx-2 IZ C-1)”= sin nx ; sin n7z  = 0
2 11=2n(n*  - 1 )

ttnufiiw.lb

-x cos x + x + sin x (- 1)”= x+n-isinx-2 Z - sin nx
n=2n(n2 - 1 )

sm  x 1  2 ( lStn22f3  - $f$$- +3. sin 4x-xcosx-x  = - -
2 3.4.5

- . . )
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$ i XV - x)  1 = + .f,  (2n  i 1j3  $ [sin  (2n  - 1)x  1

x(- 1) + (n - x)(l) = s E 1
n n=l  (2n - 1)’

(2n - 1) cos (2n - 1)x

* ;-x+n-x  = -
cos (2n - 1)x

n n=l  (2n - I)’

-2x = --K+ - cos x; ( 12 + y + + + . ..)

R cos  x
x = ---

2
;1 ( 7 + + + + + . ..)
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